Algebra - Quadratic Equations
Q1

(i) Factorise.

X2 +7x+12

...........................................................................................................................................
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(@) [2]
(ii) Hence, solve this equation.
xX2+7x+12=0

(ii) (1]
Q2
(a) Factorise and solve.

x2-2x-15=0
[3]
(b) Solve.
3x2-12=0

[3]
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(i) Factorise.

(-8
erx+12 = (c+3)(oc+4) A

-------------------------------------------------------------------------------------------------------------------------------------------

[2]
(ii) Hence, solve this equation.
x2+7x+12=0
(x+3)(x+4) =0
E ther (2e43)=0 or (x+a)=0
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Cioait (i) (1]
x=—3,x=—¢4
Q2
(a) Factorise and solve.
+ 1 —I?
13 -sv (x+3)(x-5) =0 x2-2x-15=0
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Fibhe 243 =0 or oA —§ =06
=2 x= -3 Z =x=§
So o From > = -3 B X =& [3]
(b) Solve.
3212 =0
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e | 3x2-12=0
DL-L = B
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